RECONSTRUCTION OF WATER MAIN FOR COMPANERO ENTRA PH II: PHASE 2 (RE-BID)

23-T00040/AP Q 36A

County of Hernando 15470 Flight Path Drive Brooksville, FL 34604



County of Hernando

Reconstruction of Water Main for Companero Entra PH II: Phase 2 (rebid)

l.	Quote Instructions
II.	Scope of Work
III.	Pricing Proposal
IV.	Vendor Questionaire

Attachments:

- A Sample Work Authorization Agreement
- B Companero Phase 2 EOPCC
- C 100%_Measurement_and_Pay_-_Companero_Entra_WM_Phase_2 (1)

1. Quote Instructions

A. TIME OF COMPLETION:

A. Vendor/Contractor agrees that the work will be substantially complete within days to substantial completion NINETY (90) calendar days after the commencement date indicated in the Notice to Proceed and ready for final payment within days to final completion ONE HUNDRED TWENTY (120) calendar days after the date indicated on the Notice to Proceed. Completion time includes material ordering lead times. Materials shall not be ordered by the Vendor/Contractor until the Notice to Proceed has been issued.

B. LIQUIDATED DAMAGES:

A. Vendor/Contractor hereby agrees that time is of the essence and that a precise determination of actual damages which could be incurred by the County for delay in the completion of the work provided herein would be difficult to ascertain. Accordingly the parties agree that the liquidated damages for those items of damage not otherwise provided for by the Quote Documents, for each and every day that the time consumed in completing the work provided for herein exceeds the time allowed in achieving Substantial Completion and/or Final Completion therefore shall be in accordance with the amount(s) of TWO HUNDRED FIFTY (\$250.00). The parties specifically agree that the liquidated damages provided herein do not constitute a penalty. The amount of liquidated damages occasioned by the Vendor/Contractor's delay will be deducted and retained out of the monies payable to the Vendor/Contractor. If not so deducted the Vendor/Contractor and sureties for the Vendor/Contractor shall be liable thereof.

D. PERFORMANCE AND PAYMENT BOND: - Not Required if Quote is under \$200,000

A. A Performance and Payment Bond issued in a sum equal to one hundred (100%) percent of the total awarded Contract amount by a surety company considered satisfactory by the County and otherwise authorized to transact business in the State of Florida will be required from the successful Bidder for purposes of insuring the faithful performance of the obligations imposed by the resulting Contract and for purposes of protecting the County from lawsuits for non-payment of debts as might be incurred during the successful Bidder's performance under such Contract. When applicable, the performance and payment bond form will be included in the Contract Documents and said form must be properly executed by the surety company and successful Bidder within fifteen (15) calendar days after notification by the County of the County's intent to award the Contract.

- B. If, within fifteen (15) calendar days after notification by the County of the County's intent to award a Contract, the successful Bidder refuses or otherwise neglects to execute the required written Contract or fails to furnish the required Performance and Payment Bond, the amount of the Bidder's Bid security (check or Bid Bond) shall be forfeited and the same shall be retained by the County. No plea of mistake in the Bid or misunderstanding of the conditions of forfeiture shall be available to the Bidder for the recovery of his Bid security or as a defense to any action based upon the neglect or refusal to execute a written Contract.
- C. The surety company must provide an "Increase Rider" to the Performance and Payment Bond or execute the "Consent of Surety and Increase of Penalty" form provided by the County if the Contract is increased by change order.

OPTIONAL SECTIONS

E. SURVEY CONTROL:

A. Vendor/Contractor will furnish all surveys and construction stakeouts unless otherwise specified. The Vendor/Contractor will provide horizontal control and benchmarks or elevations for vertical control. The Vendor/Contractor shall furnish, free of charge, all stakes, all templates, and other materials necessary for marking and maintaining points and lines given. The Vendor/Contractor shall be held responsible for the preservation of all stakes and markers, and if the stakes or markers are destroyed or disturbed, the cost of replacing them shall be charged against, and shall be deducted from the payment for the work. The Vendor/Contractor shall be responsible for any mistakes that may be caused by their unnecessary loss or disturbance.

F. TRAFFIC CONTROL:

- A. The Vendor/Contractor shall be responsible for installing, operating, and maintaining all traffic control associated with the project, including detours, advance warnings, channelization, or other features, both at the immediate work site and at outlaying points as detailed on the construction plans or as referenced by the Florida Department of Transportation (FDOT) indexes.
- B. Vendor/Contractor shall prepare a detailed traffic control plan designed to accomplish the level of performance outlined in the scope of work, and incorporating the methods and criteria contained in the Manual on Uniform Traffic Control Devices published by the U.S. Department

of Transportation and adopted as amended by the FDOT. This plan must be approved in writing by the Engineer.

C. The Engineer may inspect and monitor the traffic control scheme and devices of the Vendor/Contractor and shall, through the County's Inspector assigned to the project, make known his requirements for any alterations and adjustments to the control plan or devices. The Vendor/Contractor shall take direction only as appropriately expressed by the Inspector or Engineer.

2. Scope of Work

2.1. PROJECT DESCRIPTION

The Contractor will supply all materials, labor, and equipment in order to accomplish the reconstruction/replacement of 4" HDPE pipe water main, as described in the specifications and construction plans in Attachment B "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2" showing the proposed improvements in Hernando County, Florida.

2.2. SCOPE OF WORK

This project consists of but is not limited to:

- Replacement of 4" HDPE water main from valve to reducer as described in the specifications and construction plans in Attachment B "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2"
- Replace all the service lines while keeping existing sleeves for the associated water main.
- Install thrust blocks as delineated in the specifications and construction plans in Attachment B
 "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2"plan set.
- Moving the 4" Gate Valve, 4"x2" Reducer, 2" tee from the driveway located at 4159 Lily to green area in ROW.

All construction shall be in accordance with the 2013 Hernando County Utilities Department Specifications and Contruction Details which can be found here:

https://www.hernandocounty.us/home/showpublisheddocument/9299/638599247653070000 and https://www.hernandocounty.us/home/showpublisheddocument/9297/638599247646200000.

Refer also to specifications and construction plans in Attachment B "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2"

The Vendor/Contractor shall comply with all applicable OSHA workplace safety requirements and shall accomplish the work in a manner providing for the safety of their equipment and workers and for the safety of the general public.

2.3. LOCATION OF THE WORK

The work to be performed in this contract will be performed on several streets off Companero Entra, in Hernando County, Florida. Refer to specifications and construction plans in Attachment B "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2"

2.4. SURVEY CONTROL

Contractor will furnish all surveys and construction stakeouts unless otherwise specified.

Title: Reconstruction of Water Main for Companero Entra PH II: Phase 2 (re-bid)

Contractor will provide horizontal control and benchmarks or elevations for vertical control.

Contractor shall furnish, free of charge, all stakes, all templates, and other materials necessary for marking and maintaining points and lines given.

Contractor shall be held responsible for the preservation of all stakes and markers, and if the stakes or markers are destroyed or disturbed, the cost of replacing them shall be charged against the Vendor/Contractor and shall be deducted from the payment for the work.

Contractor shall be responsible for any mistakes that may be caused by their unnecessary loss or disturbance.

2.5. TRAFFIC CONTROL

The Contractor shall be responsible for installing, operating, and maintaining all traffic control associated with the project, including detours, advance warnings, channelization, or other features, both at the immediate work site and at outlaying points as detailed on the construction plans or as referenced by the FDOT indexes.

Contractor shall prepare a detailed traffic control plan designed to accomplish the level of performance outlined in the scope of work, and incorporating the methods and criteria contained in the Manual on Uniform Traffic Control Devices published by the U.S. Department of Transportation and adopted as amended by the FDOT. This plan must be approved in writing by the Engineer.

The Engineer may inspect and monitor the traffic control scheme and devices of the Vendor/Contractor and shall, through the Project Manager or County's Designated Inspector assigned to the project, make known his requirements for any alterations and adjustments to the control plan or devices. The Vendor/Contractor shall take direction only as appropriately expressed by the Inspector or Engineer.

2.6. GENERAL REQUIREMENTS AND TECHNICAL SPECIFICATIONS

2.6.1 WORK COVERED BY CONTRACT DOCUMENTS/REQUIREMENTS

This project consists of but is not limited to the replacement the 4" HDPE water main from valve to reducer where specified on plans, replacement of all the service lines while keeping existing sleeves for the associated water main and installation of thrust blocks where delineated on plan set. Refer to specifications and construction plans in Attachment B "Companero Phase 2 EOPCC" and Attachment C "100% Measurement and Pay-Companero Entra WM Phase 2"

The Contractor shall perform the work complete, in place and ready for continuous service and shall include any repairs, replacements, and/or restoration required as a result of damages caused prior to acceptance by the County.

The Contractor shall furnish and install all materials, equipment and labor which is reasonably and properly inferable and necessary for the proper completion of the work, whether specifically indicated in the Contract Documents or not.

The Contractor shall coordinate with Hernando County Utilities when they are ready to connect to the existing mains to minimize any service related issues.

2.6.2 WORK SEQUENCE

All work done under this Work Authorization shall be done with a minimum of inconvenience to the users of the system. The Contractor shall coordinate the work with the County and private property owners such that existing utility services are maintained to all users to the maximum extent possible.

The Contractor shall, if necessary and feasible, construct the work in phases to accommodate the County's use of the premises during the construction period and coordinate the construction schedule and operations with the County's Representative.

2.6.3 CONSTRUCTION AREAS

The Contractor shall limit the use of the construction areas for work and for storage, to allow for:

- a. Work by other Contractors
- b. County's use

The Contractor will coordinate the use of work site under direction of the County's Representative. The Contractor will assume full responsibility for the protection and safekeeping of products under this Contract stored on the site.

The Contractor will move any stored products under the Contractor's control which may interfere with operations of the County or separate contractor.

3. Pricing Proposal

COMPANERO ENTRA WATER MAIN REPLACEMENT PHASE 2

Line Item	Description	Quantit y	Unit of Measure	Unit Cost	Total
I. GENERAL CONDITIONS					
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$10,000.00	\$10,000.00
2	BONDING & INSURANCE	1	LS	\$21,500.00	\$21,500.00
3	MAINTNANCE OF TRAFFIC	1	LS	\$10,000.00	\$10,000.00
4	CONSTRUCTION SURVEY LAYOUT / AS-BUILT	1	LS	\$8,500.00	\$8,500.00
5	EROSION AND SEDIMENT CONTROL	1	LS	\$6,500.00	\$6,500.00
6	PRE-POST COLOR AUDIO VIDEO RECORDINGS	1	LS	\$1,500.00	\$1,500.00
7	GOPHER TORTOISE SURVEY AND PERMITTING	1	LS	\$3,800.00	\$3,800.00
8	GOPHER TORTOISE TO BE BUCKET TRAPPED, PULLED, OR MONITORED (UP TO 3)	3	EA	\$1,800.00	\$5,400.00
9	GOPHER TORTOISE RELOCATION (UP TO 3)	3	EA	\$8,640.00	\$25,920.00
10	ABANDON WATER MAIN IN PLACE	1	LS	\$4,800.00	\$4,800.00
II. CAMELIA DRIVE					
11	FURNISH AND INSTALL 4" C-900 DR18 PVC	390	LF	\$102.39	\$39,932.10
12	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
13	TAP AND CONNECT EXISTING WATER SERVICES (4 SHORT, 3 LONG)	7	EA	\$3,499.20	\$24,494.40

14	4" 45 DEGREE DIP FITTINGS	2	EA	\$558.93	\$1,117.86
15	THRUST BLOCK	5	EA	\$93.60	\$468.00
III. ORCHARD DR					
16	FURNISH AND INSTALL 4" C-900 DR18 PVC	315	LF	\$102.39	\$32,252.85
17	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
18	TAP AND CONNECT EXISTING WATER SERVICES (3 SHORT , 3 LONG)	6	EA	\$3,499.20	\$20,995.20
19	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
20	THRUST BLOCK	4	EA	\$93.60	\$374.40
IV. LILY DRIVE					
21	FURNISH AND INSTALL 4" C-900 DR18 PVC	405	LF	\$102.39	\$41,467.95
22	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
23	TAP AND CONNECT EXISTING WATER SERVICES (3 SHORT , 4 LONG)	7	EA	\$3,499.20	\$24,494.40
24	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
25	THRUST BLOCK	4	EA	\$93.60	\$374.40
26	4" GATE VALVE	1	EA	\$2,784.00	\$2,784.00
27	4"X2" REDUCER	1	EA	\$257.56	\$257.56
28	2" TEE	1	EA	\$56.84	\$56.84
29	2" COUPLING	2	EA	\$6.00	\$12.00
30	2" POLY	20	LF	\$4.23	\$84.60
31	DRIVEWAY REPLACEMENT (4159 LILY DR, 4115 LILY DR)	2	EA	\$11,146.80	\$22,293.60
V. CENTAVO COURT					

32	FURNISH AND INSTALL 4" C-900 DR18 PVC	375	LF	\$102.39	\$38,396.25
33	CONNECTION BETWEEN PROPOSED 4" WM TO EXISTING REDUCER / GATE VALVE	2	EA	\$6,050.64	\$12,101.28
34	TAP AND CONNECT EXISTING WATER SERVICES (2 SHORT, 3 LONG)	5	EA	\$3,499.20	\$17,496.00
35	4" 45 DEGREE DIP FITTINGS	4	EA	\$558.93	\$2,235.72
36	THRUST BLOCK	4	EA	\$93.60	\$374.40
37	DECRATIVE ROCK REPLACMENT (4052 CENTAVO CT)	1	EA	\$4,500.00	\$4,500.00
VI. RESTORATION					
38	SOD RESTORATION	1	LS	\$15,000.00	\$15,000.00
	Total				\$440,259.09

Anti-Human Trafficking Affidavit

repres	In compliance with Fla. Stat. § 787.06(1) entative of a nongovernmental entity that and of County or any of its subordinate units	13), this affidavit must be completed by <u>an officer or</u> it is executing, renewing, or extending a contract with the "Governmental Entity").
1.	My name is Daniel Goodwin, Jr. information is given from my own perso	_and I am over eighteen years of age. The following nal knowledge.

- 2. I am an officer or representative with Goodwin Bros Construction, Inc. , a non-governmental entity (the "Nongovernmental Entity"). I am authorized to provide this affidavit on behalf of Nongovernmental Entity.
- 3. Neither Nongovernmental Entity, nor any of its subsidiaries or affiliates, uses *coercion* for *labor* or *services*, as such italicized terms are defined in Fla. Stat. § 787.06, as it may be amended from time to time.
- 4. If, at any time in the future, Nongovernmental Entity does use coercion for labor or services, Nongovernmental Entity will immediately notify Governmental Entity and no contracts may be executed, renewed, or extended between the parties.
- 5. This declaration is made pursuant to Fla, Stat. § 92.525. I understand that making a false statement in this declaration may subject me to criminal penalties.

Under penalties of perjury, I Daniel Goodwin, Jr. , declare that I have read the foregoing Anti-Human Trafficking Affidavit and that the facts stated in it are true.

FURTHER AFFIANT SAYETH NAUGHT.

Goodwin Bros Construction, Inc.	
Name of Nongovernmental Entity	
Daniel Goodwin, Jr.	
Printed Name of Affiant	
President	
Title of Affiant	
Signature of Affiant	
7/21/2025	
Date	

Foreign Countries of Concern

Pursuant to 287.138 F.S., effective July 1, 2023, the County may not enter into contracts which grants the Vendor/Contractor access to personal identifiable information if: a) the Contractor is owned by the government of a Foreign Country of Concern (as defined by the statute): (b) the government of a Foreign Country of Concern has a controlling interest in the entity; or (c) the Contractor is organized under the law of or has its principal place of business in a Foreign Country of Concern.

Beginning July 1, 2025, a governmental entity is prohibited from extending or renewing a contract with an entity meeting the requirements of (a) to (c) above, if the contract would give such entity access to an individual's personal identifying information.

The Contracting with Entities of Foreign Countries of Concern Prohibited Affidavit Form ("Form") is required by Section 287.138, Florida Statutes ("F.S."), which is deemed as being expressly incorporated into this Form. The Affidavit must be completed by a person authorized to make this attestation on behalf of the Bidder's/Proposer's for the purpose of submitting a bid, proposal, quote, or other response, or otherwise entering into a contract with the County. The associated bid, proposal, quote, or other response will not be accepted unless and until this completed and executed Affidavit is submitted to the County.

Bidder's/Proposer's Legal Company Name: Goodwin Bros Construction, Inc.	does
not meet any of the criteria set forth in Paragraphs 2 (a) – (c) of Section 287.138, FS.	-
Pursuant to Section 92.525, F.S., under penalties of perjury, I declare that I have read the foregoing statement and that the facts stated in it are true.	
Print Name of Bidder's/Proposer's Authorized Representative: Daniel Goodwin, Jr.	
Title of Bidder's/Proposer's Authorized Representative: President	7
Signature of Bidder's/Proposer's Authorized Representative:	_
Date: 7/21/2025	